Fill in the Blanks

Solving Trigonometric Edquations with Multiple Angles

. Substitute | Rearrange Acute I Solutions|Solutions
uestion - Range for x |Unit Circle
Q X = Equation Angle 9 for x for 0
Solve 5
7 cos(260) =5 x =20 5 |x=cos™?! (—) 0 o G4 x =44415° | 6 =22.2°
for 7cosx=5 | XT3 1 41570 0% =< x < 360 @i || x = 315.585° | 6 = 157.8°
0° < 6 < 180° X =%
Solve x = 30 61.045° | 6 =20.3°
8 Sm(”;) 7=0 lgsinx—7=0/ sinx=_ X =61.045° | —270° < x < 270° || SLONZ6L0 L |y = 118.955° | g =39.7°
_900 <09r < 900 8 &/ x = —241.045°| 6 = —80.3°
Solve 1
4
— =3 x=6+25 . . . K Ga \ | x=53.130° | 6 =281°
tan(e _|f: 25) t 4 _ tanx = § x = 53.130 —155° < x < 205 531 / > x = —128.870° 6 = —153.9°
or anx
—180° < 6 < 180°
_ x =63.612° | 6 = 39.3°
9cos(26 ~15)=4 | _ 9515 4 f fo | |x=296388°| 6=1557°
for _ COSX = —= X =63.612° —15° < x < 705° e o B o
0° < 6 < 360° 9 cosx = 4 9 : x = 423.612° | 6 =219.3
= x = 656.388° | 6§ = 335.7°
tan(36 + 70
( ) +3=0] x=30+70 /K\ x = —80.538°| 6 = —50.2°
2 @nx . _y tanx = —6 x =80.538° | —200° < x < 340° == »| x=99.462° | 0 =9.8°
for - ° °
90° < § < 90° 2 K x =279.462°| 6 =69.8




